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NWrswer all é guestions. An nrjuslified answer wil recesve /e
g7 70 credil . wo caccocarors op Formea sHEETs ARE Arsowed

/;n//fée ‘S‘YO/”}VZK/‘Q”@"[ ve/zcz ‘a/ Zﬂ%ev A%w/y A)m%. ODE s
0 V20 wih 9= 2 and St

¥ 97 +r69=0 Wi Y0)= 3 ond Y) = -8

(290 2.\ind the general solubion of cach of e Ailluing OVE

) v -y = rze” (6) 97~y 2 =~y x*

;E—ch[yc z;mp{j/.’z/e The 744‘/}7/}444/'7[27'%4 ofMe y,o Thal
lone should fry ofor each of The %//owrhf O £

(D% 20 + ;z)zy = 66X, e S’_f'/?lX'
(D7) (P-4 Yy = 4cos*x + ssinx

| Detine what is the Wronstian of £, £ 43

Fend a ﬁm'f/m/m” solulion of the ODE Y+Y=csc’x).

Detine what 17 means for T A LAl Fo be ///‘7(5/7’/7 /g/oém/}nf
Gven That Flx) = x /s a solution of (x%3) v axy s “Y=0

A a second //ﬂé%r// //M/e/en/eﬂf Sotution.

/—) boa// 07[ Mass B,éj £ &(ﬂﬂééf///; a /inear 5/»*/'/77 0'/ /Milum/

»/énfﬂ sm and the 07%@;;(/728 %‘r/hj NS ﬁ/%dc%é// /o The

[y

‘Ce/b//y‘ Jhe S/f/hj c’am/‘ﬁnz“ /< s IENm! and e awr
A

(e /:S‘ )U"‘bijéfff 2: @r‘/\/sm‘/_ // 7%& éaﬁ// /8

7?’6/6%56/ me re_rz 1,1//777 /he 5/:*/'/\?} &/n--&:(fc’nﬁ/e/ azé 7(//??8 fzo}
Wond s /05‘/‘%/‘0/1 al afl _S’Mérej went Fimes. [%_p{ 9= /ﬁms“zj
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MAP 2302 —~ Ditterential fgm&z/ﬂmy Florida il v,
Solulions o Jesl # 2 Fal/ 2008

Iw|| Y +29"+y =0  yo)=z & YW=/
R | (Dz’f 20#)y =0 = (D*/) o = d=wtffwice)
,,,,, e Y= (//X+E) cffx ‘
0 Y= ().~ (Mé} (- e”x) (A-B-4x)e
| 9)=2 = (lo+8)e’=2 = g=2
=1 = [A-B-#o]E’=] = B= 1+2 = 3
ol Y)Y = (Bxr2dET
) 9ty = o Y =3 s ym=-&
(2%+/6)y =0 = (D-#)Qre))y-o
Y= A pc(#) £~ B sk
| Y= —4Asin yx+ ¢Beoyx
Nvw=2 — Ai+8.0-3 > A=-3
ﬂ//b) ==& = -440 4B = -8 = B=-2

Y ) = Beos (9)9 — 2 </ (#X).

2 @)] ;V//—‘-%:/?fx_ & x) . /%Mff c}. Sy =0
L@EDY e = (2-NAF)Y=0 = D=Jer-).
oY :C’é’x+fex

J/ﬁ(f 1 o a 2vol d/%[ AwX. KZ .J< /2 w&z/od/—
740/4/)/%/ o/ a/fffﬁé J 7Lf/ y X, (/4 €X>
N N A 7«— X, Ae* = Alr).e”
1 Y 7 = /"A(/fo),e —+ /')l(}('f/).f)(: é4)( f-Z//)EX
So (% becomes (4x+2/f))€x~ Axe” = rpe”
24 = 2 exﬁ . A =712/ = ¢
y/,:,,éix.é = ¢xe”

JU) = BB+ e = G+ sxe”
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ozl Y-y -2y = 4:)<}2 brx) %nwj‘fz_ Y-y -2y= 0o
(gbz*ﬂ’Z)y= 0o = @#—/)[.Z)'-ijzd = ,Z)r:, -] or 2
L Y= ey G . Smer —4X% 5 a

/ﬂﬁ”mmm/a’/‘é/ree 2 X 0 5nd amwdof te awn.

7 i.ﬂ/: 2Ax+ 8 4 =24

N7 2A) = (2Ax78) — 2/ AxPr BxtC) = - x>
o2 A=-y = A=2

2B +2A =0 = B=-A=-2
2A—-B~20=0 =52C=-Brz24 = C=3 .

L Y= 2Xf—2X+3 . Y=Y+ Y =
G e X 4o, 4 o 2XP_z2x4+ 3.

3w (D¥2D 2Ty = ex e
(DT F2VY =0 = D= (-2rSEB)e = It
N[ (Hwie) . o Y = (Gxr ) enx r (Cxr () sinx
|| Since EX is a polyromial of degree 1 & iz i are
||l of o aux. &g oF mutplicity 2. fhe aminimal
Y= XZ[( Ax th)e%eosx + (B X+ 8)€%m x|
G QDRI = 4P x ¢ 5 s0x_ = p(1#0sex) rEins
= 2F 20Xt ESinxX . (2?+02@—z)?bf2)i =0
= D= ti@uee), -2 2.
e Y= Xt G) ox t (Qx+@5@x+@e’z’} Qezf(.w
| Since 2t_ave a0l of The aux. 5. o ) //’//C’Z;V 2,

e sinimal Yp hatl we shodd 7&7’77&///56 B
b= Mot HocospRr B, Xy + X[ fywsxr B, 5]
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W, £, = 1A £ A

1)) 2;

Y7 Y= ) (2) 2iNY=0 = d=+1i

| So we can tuke y, cos X and Y. = Sinx

cos X Six | = cosx + sintx =

N9 9 smx csx|

e Y2 |
F—(X)/ﬂa{X) yz

sy
2 N
,c.s'c.z)( cosx|{ - Csc°X.SinX

U;:f colx cse dx = — csex .

— /

W(%,yz)mw o 1

— kX, §//’> R &C(X)
) S/nx o

oY = ffc s,c(x:),dx_ = —— & (cscx + 502%()
A { g o ) wsx 0
VU, = (I (X)/ﬂo()O _|-sinx  cscix

= cosx., CSEEX = cosSx | || cscx = Zafx csex
5)nX

'?U

' Jp = QU t s = coox. by (cseX teolx) — csex.sinX

= cosx. /n(é.src‘x teolx) - 1 .

{%) £77 A ///’ifﬁf/ Q/Z/)fn/fn/ // we. can %44/

W/72/1 aZL /ﬁmf/ oONeé 7%2144 Af/ﬂ/ 270/ - 5,6/0

C/ 9 Cz,/ﬂ .

”..A.:S)M//‘l /Z}éf C//(Y) e /L/’ &)+ GAK) = 0.
(xzf5>«! — 4 XY 4y = one solution is Hx) =X,

5L = 00U = x. /

- /4,(X)/4o(x> dx
[/(X)]L
| P o o (xS
= X /XZ (6 /Xfxaa/) ﬂ{X = X‘/ e’ X_f%)//k

L / (><+3) dx = x. /X"féx t9  dx
X/(x —fé-f 7>//x = x/X3+éx 7) );yfé)(?;?.




. L@f X = %e ﬂmﬁ&/ﬂi ”/ée S/r/{?j /s Méﬁ/é/ IR IIPPYY
Then X)) =0 & X =0 Al
ComX = — kX — DX mg

32X = —/5X—6X + 3(/0) - L=5m
. X+ zx+3X= (0 J
(DZ+2@ +5)X = o TR

LA = c2EV#2e - /220
R = e —f[/}lcw(zf)f 85’m(z/>7

Ty Xp@® = C. Then ),%/9,,’,’,0 4 X,a =0
| So X tzx+s5x=/0 éézomm 6ato+5C= /0

I ez X0 -=
)([f) X, (f)f X (f) = 2+ e t[#w:(zz‘) f 5(1;7(22‘)
awd x&) = o + ef( 24 5in2) + 28 cos )

- e [/4505(2[’) — B S/ (2(‘)]
Z[(ZB /}> coszlt — (Z/} +6) S’/)?(Zd]

_‘,»»‘X(O)’:'o ~>—9 0 = 2t 6;6/4.-‘/7‘5,;0)'?;:') A=z
I X@)=0 = 0= {(28-4).7— LAtB).0 = B=~|
CX@) = 2 — €20+ siupt)]



